B E B, PDU
W= 3 S

SHL IS AEAL mRE . AR, RE . RS

W= R

® 7 itiE T A AR LR IS AR BR L AR Ak, AT O E AR

@ FRLAR, CEHTA,
@ JLEL. ERATIALRY.
® “iifE. k.

BEARSH

T AR . PDU EE0E A TR IR (220V) R4 FHESHA P E GLE) /Y7, ik

. PRI RO g | iy || SO | s | T
o iil=s A Tn (kA Imﬂm~ﬁm¥%ﬁ B R) @%B’%E 0. 75U1m | I JE
8/20 1 6)|8/20 ) Up(kV)| (A) |ta(ns) [Un(Vac) Ue (Vao) (ua) | (C)
LF D/P4 HEAE 4 0 5 10 1.2 | 10
LF D/P6 HEAE 6 O 5 10 1.2 | 10
yils]
LF D/P6-D220 LEES 61[?‘ 104 5 10 1.2 | 10
N o
E.)i LF D/P6-D220 m*ﬁf 5DU‘ 104 5 10 1.2 | 10 -40
=5 .
i LF D/P6-D220 Bk 6 F1 16A, 5 10 1.2 | 16 D o = +85
i 1.5U :
yils]
LF D/P8-D220 m*ﬁf 5DU‘ 104 5 10 1.2 | 10
yils]
LF D/P8-D220 m*ﬁf 5DU‘ 164 5 10 1.2 | 16

W 22235 B

® BT CGENS 4 05 BrEAR6 1)« BR@ BT FRIEIF RS, BIERR =, WRREIRIER
Wl TR, WFRRBEHAEIER T/E: k2, WHEAAHER, 8% 4EE e

@ [HEHME (HLZEX 6 M. 10A. 1U; H12E:0 6 118 8 1. 10A. 1.5U; HLZEX 6 HEk 8 M. 16A. 1.5U) :
BB EIET IR S, ISR R 2 OF QA IRTE R, ISR e s Bail s TAEHE R 52,
MR RE TR AL IER TR &Rz, $EBEATER, B 4E5 a5 .

© FUEEIAS BRI b T 4 T BUE HL

® i EH R Bt S 4GSk 4R E o O,

© 55197 T 47 R AH T P47 R 2R v 15 S BE B SR I, K B R AR AT R BB N RO AT s AR, e ZB0KE R A
JiA ) e b ity 5 M R, A REAE . N T AR SE AP AR TR AR, U TR A A B b T S P SR

W= 5 RS E

1. FrEks 4 O

32mm ” 227mm N
e

g O J: @ o sl s le s|||le s

0 o — aiD||iairD|l |anrof 1dan b

Y.
2. HiEFR6 0




32mm 9 187mm N
, ‘ . ‘
o o 7 N\ 7 N\ 7 N\
—
- adiDb||anDy|iianb
£
flold (] 00
alD||ailD)|iail b
N 7 N\ 7 N 7
‘_f—l_l L_I'—l_A L_T_'l_l
3. HZE6 0. 10A. 1U
45mm | 485mm .
g199 & a || [[am]|] [[aw ]| [[am]] [aw]] [[aiD
fi@gﬂtxD NN ARY, \
[©) ©) Qﬂ =]
4. LR 6 1. 10A. 15U
| 45mm_,| | 485mm N
oo [ [p=
g LA — | [Femram] [[am] [[am] [a] [a]| [aiD
§ﬂ‘® Eg; Ii ﬂﬂﬂ A I R 0 (R N R R e
o o < 1N
5. HLAE 6 1. 16A. 15U
485mm NI
=
([aD}
2% O N N R R O
% WJ N\ \ 7 \ 7 N\ 7 \ 7 N\ —
1N
6. HLA
493mm N
—
e[| - ap||[am |[[ap||[am||[[ap [ |[[ab||[diD gg
8 : - |
1N
7. HLA
493mm N
—=%
= cfo oo o ffoffo]lfo]|lD
S NN 72N 70N 2N 72N 7N 7|\ 7 —
L 1N
W ZERNEE
1. ¥HEFs 4 0
R <
dE @ A 1 KA N EARE N KA A 3R 4
wn-— = (210 |910] (g1pf [91D
T1E#E=w

2. HiEFR6 0



TEsE R

Mh 2% ——
ai1p| |a1o] |laip
miEs @ , . ﬂ-@—@i}ﬁ#‘éﬁt

B IR T 5%

3. MlZER 6 1. 10A. 1U
TiEdER

Bk
£ (T i)

BRI X/#6 R
4, HLZER 6 1. 10A. 1.5U
T1EHE R

000

B
2k ()

000

000

—1reliam] [am]| ([am]| [[am]| [gp] QD
E e || IR A B RN/ | N N RN Y | RN

BRI X/¥6 R
5. #lZEx 6 1. 16A. 15U
T1EHE R

B
2k ()

000
=
000

| (NN A4 R A2 N A4 R A N A

BRI X/H6 R
6. HlZE= 8 1. 10A. 15U
TR

alb ||| QD (|| AID ||| AID ||| QD ||| QD ||| QID (|| QD

MR
2k (T @)

000

000

BRI X/ R
7. MlZExX 8 1. 16A. 15U
TiEET

1]

(o

L)
000

s rm o | ||| Lo [[|L=" OIS 7N Z||N 7N 7N 7|\ 7N 7|\ 7

BRI K/4E R



